Polaris 2013-20 Ranger/Ranger XP/ Diesel Roof

Thank you for choosing Rough Country for all your UTV needs.
Please read instructions before beginning installation. Check the kit hardware against the kit contents shown below. Be
sure you have all needed parts and know where they go.
If question exist, please call us @1-800-222-7023. We will be happy to answer any questions concerning this product.
Check all fasteners for proper torque. Check to ensure for adequate clearance between all components.
Periodically check all hardware for tightness.

KIT CONTENTS: TOOLS NEEDED:
(2) Roof Sections 7/16” Socket/Wrench
(1) Roll of Adhesive Foam Seal Ratchet

(9) 1/4” x 3/4” Bolts

(5) 1/4” Acorn Nuts

(10) 1/4” Flat Washers
(1) 1/4”-28 x 1” Bolt

(4) 1/4”-20 Nylock Nuts
(1) 1/4”-28 Nylock Nut
(6) 1/4” Fender Washers
(1) 2” x 4” Mounting Tab

Installation Instructions
Place the adhesive foam seal on the lower overlapping section of roof and trim to length. See Photo 1.
2. Place the roof sections together and secure one to the other with %4"-20 x 34" bolts through the top side with a 4" flat

washer on top and bottom and the 4"-20 acorn nut on the bottom side of the roof. This works best starting from the
middle outwards.

-_—

Photo 1




3. Place the roof on the vehicle and loosely secure four corners with (4) 74"-20 x %" bolts, ¥2" x 1" fender washers, V4"-
20 nylock nuts. See Photo 2.

4. Loosely secure front center of roof with ¥4"-28 x 1" bolts, 274" x 1" fender washers, 2" x 4" mounting tab, and "4"-28
nylock nuts. Start tab inside opening and then pull down and turn against roll cage. Make sure tab is pressed
against the roll cage opening. See Photo 3.

5. Tighten all roll cage mounting bolts.

™

. Photo 2 Photo 3

Thank you for choosing Rough Country for all your UTV needs.

By purchasing any item sold by Rough Country, LLC, the buyer expressly warrants that he/she is in compliance with all
applicable, State, and Local laws and regulations regarding the purchase, ownership, and use of the item. It shall be the
buyers responsibility to comply with all Federal, State and Local laws governing the sales of any items |
or sold. The buyer expressly agrees to indemnify and hold harmless Rough Country, LLC for all claims
or indirectly from the purchase, ownership, or use of the items.




